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N.B. .— () Attempt All questions.
(iz)  All questions carry equal marks.
(@) |E WA gredn

(i) @E WA GEE T SR
1. Explain the Hecksher-Ohlin’s theory of International Trade.
TFR-3TESTa ARSI ARl fagem T &
Or
(fenam)
State the meaning and features of Balance of Payments.
FaERale dd 9 ygE AR TR H
2. Explain the structure and function of International Monetary Fund.
AT A0 =l = 9 w1 T HA
Or
(fenam)
What is Balance of Trade ? Explain the features of it.
SR 3T WU 1 ? Al dfETSesl T
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Describe the India’s Foreign Trade Policies in 2009-2014. 10
2009-2014 1 HI@IG WRATE TLhE AR &0 T6 H.
Or
(fenam)

State the difference between Domestic Trade and International Trade.

QTP AR M TSR AR A Bk fazg .

Write short notes on any two of the following : 10
@) World Bank

(11) Asian Development Bank

(zi1)  Scope of International Economics

@iv) Structure of India’s Foreign Trade.

TOIGIh! HIVER! aFeR dieda feur fogr .

G) S Sk

@) T o wen

(Gii) AL T AT

(v) YR 9hE SANRET

OR
(feram)

(Mathematical Economics)

— () Attempt All questions.

(ir) ~ All questions carry equal marks.

(z11)  Use of calculator is permitted.
() W WA Hrean

(i) | TEAM WEE O SR

(zi1) ORI ITO0E YT 3778,

Explain the equilibrium of a firm under monopoly. 10

THIERRl SRS frma el T &
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Or
(feram)
Given the utility function U = q;99 and budget constraint 5¢;, +10g, =100,
find the optimum quantity of g; and gs,.

U = gyqy T ST H&F S0 5S¢, +10g, =100 & 0= 7 fcodt s
qq T qo TRE TRAH TIHEA I

What is input-output analysis ? Explain its simple model. 10

ARHA-YSH foRrowu =ue w0 ? @@ WY GdHE TR .
Or
(fenam)
Given the demand function X = 2P — P2 and Price P = 5, P = 10. Find out

elasticity of demand for each price.
Tt e X = 2P — P2 9 fmd P = 5, P = 10 K0t 3/am1 waeh fonadia grmoit=
Safdehdl HIfgd .

A firm has the following total cost and demand function : 10

1
C=§Q3——7Q2+111Q+50 and Q=100-P

Find profit maximizing level of output.
UM TEHRGT d ANV
C=§Q3—7Q2+111Q+50 amfor Q=100 - P

fTos STaMT oo ST TR HecHIshiol T & d I ScAETIdaid T

I F G T

Or
(feram)
What is the Linear Programming Problem ? Describe its assumption.

W YRS T WU w2 e TR TR R

P.T.O.
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4. Write short notes on any two : 10
(@) Ordinal utility
1) Production function
@i) If given Qg = 1000 — 40P and Q. = 700 + 3P, then find out equilibrium
quantity.
(iv) Find elasticity of demand when x = 7 — 2P and P = 1.
WSGUH! Rl qer e fear = .
()  ShHEATHE YA
(@)  3ART A
(i) SR Qy = 1000 — 40P 3701 Q, = 700 + 3P & W HISIA Scdrg Hifed
EX
(v) SN x=7-2Pd P =1 393 R AU Safdehal Hifgd .
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